1. ﬁﬁ‘le = {¢7 07 17 27 {0,1}} Oﬂ EHf)’]—Oq q—% % —E%Z] ?‘6}:‘1% Z_\]%?

D peA @ ¢CA ® {0, {0,1}} Cc A
@ {1} e A ® {0, 1} € A



Z 025 Eototes B2 119
=
=

Folote sy gmoltt. ol






o tisto] o= F &2 A2

{1,5,7},B = {5,7,13}

O A°={3,9,11} @ AuUuB=1{1,5T} ® A-B=1{1,5}

@ ANB=1{57T} ® A- B¢ ={5}



1 o

ke

LaEs 4

0] 19 4, of



A A=1{1,2,3,{2,3},{4}} € W, o5 T =4 &= A27

D1ecA @ 3¢ A ®4¢A
@ {4} eA ® {2,3}e4



, 10, 12} A U 2 =

o] 42 Fatofat.

St

jm=

H3 Z=A]9

e
b

rlo



8. F AE A B o tistd A = {e,a,rt,h},ANB = {t,h}, AU B =
{e,a,m,t,h,m,o,n} & W, A B & oozt



9.

ThS Wl tholo] 18-S BT Acy Be o &oA] O AL




10. = g A, B ol Hdte] n(A) = 30,n(AUB) = 56,n(ANB) =12 4 ©, n(B)
o] = szt



11. 8 ©] oFZ=9]

7] o H =
/\’:{7

D 1eA4, 1B

@ 4€ A, 6€B

25}

@ 2€A,2€B

®4€A74¢B

5ies
rlo




12. F A3 4, B o distol A = {2 | 2= 10°I5}°] &%}, B = {z |
= 10020 22 119] Wi}, € = {z | 25 12 x ¢ = 45 WEdE= A=)
2 o, n(B) - n(A) +n(C) =7

® 4 @ 5 @ 6 @7 ® 8



13. & At A, B ol disto]
ACB,BcCA°L A= {a|lzts 89 %5},
B={1,a-2, a, ax?2} °|t}.

a ©] gk& szt



VAl

14. 9& %82 A

ftlo

g

rlo

Q@ A={1, 2, 3}°]H n(A) =3
© C={0} " n(C)=0

© AC B ol n(A) < n(B)
© n(A) =n(B) ol¥ A= B

® n({1, 2, 3, 4}) —n({1, 2, 3}) = {4}




ok
lo
ot
4
<
fu)
_0|L
2
iu)
oo
o
=
B
_°|L
rr
i)
Bl

© {3, 5} CcX

© n(X)<5

@ 1271

@ 137

@ 147}

@ 157

® 167

Lo



